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0 742.01 0670.1 269.8 6111.0

1 322.9 9760.1 598.8 4211.0 13 87.03 8089.0 152.7 9731.0 16 64.06 1537.0 911.6 4361.0 18 52.08 9566.0 245.5 4081.0

2 891.8 9950.1 828.8 3311.0 23 77.13 4568.0 602.7 8831.0 26 54.16 3137.0 780.6 3461.0 28 42.18 8266.0 615.5 3181.0

3 371.7 0250.1 267.8 1411.0 33 67.233 2068.0 361.7 6931.0 36 44.26 5727.0 650.6 1561.0 38 32.28 7956.0 194.5 1281.0

4 841.6 3440.1 896.8 0511.0 43 57.33 0558.0 911.7 5041.0 46 34.36 8327.0 520.6 0661.0 48 22.38 6656.0 564.5 0381.0

5 421.5 6630.1 436.8 8511.0 53 37.43 8948.0 570.7 3141.0 56 24.46 1027.0 499.6 8661.0 58 02.48 6356.0 044.5 8381.0

6 990.4 1920.1 175.8 7611.0 63 27.53 8448.0 430.7 2241.0 66 14.56 5617.0 469.5 7761.0 68 91.58 6056.0 514.5 7481.0

7 470.3 7120.1 905.8 5711.0 73 17.63 8938.0 399.6 0341.0 76 04.66 8217.0 439.5 5861.0 78 81.68 6746.0 093.5 5581.0

8 940.2 3410.1 844.8 4811.0 83 07.73 8438.0 159.6 9341.0 86 93.76 3907.0 409.5 4961.0 88 71.78 6446.0 563.5 4681.0

9 520.1 1700.1 883.8 2911.0 93 96.83 9928.0 019.6 7441.0 96 73.86 7507.0 478.5 2071.0 98 61.88 7146.0 143.5 2781.0

01 00.01 0000.1 823.8 1021.0 04 86.93 1528.0 078.6 6541.0 07 63.96 2207.0 548.5 1171.0 09 51.98 8836.0 613.5 1881.0

11 99.01 0399.0 072.8 9021.0 14 76.04 3028.0 038.6 4641.0 17 53.07 8896.0 718.5 9171.0 19 41.09 0636.0 392.5 9881.0

21 89.11 1689.0 212.8 8121.0 24 66.14 5518.0 097.6 3741.0 27 43.17 3596.0 887.5 8271.0 29 31.19 1336.0 962.5 8981.0

31 79.21 2979.0 551.8 6221.0 34 56.24 9018.0 257.6 1841.0 37 33.27 9196.0 957.5 6371.0 39 21.29 3036.0 642.5 6091.0

41 69.31 5279.0 990.8 5321.0 44 46.34 3608.0 317.6 0941.0 47 23.37 6886.0 137.5 5471.0 49 11.39 5726.0 222.5 5191.0

51 59.41 9569.0 440.8 3421.0 54 36.44 7108.0 576.6 8941.0 57 13.47 2586.0 307.5 3571.0 59 01.49 7426.0 991.5 4291.0

61 49.51 3959.0 989.7 2521.0 64 26.54 2797.0 736.6 7051.0 67 03.57 9186.0 676.5 2671.0 69 90.59 0226.0 671.5 2391.0

71 39.61 9259.0 539.7 0621.0 74 16.05 7297.0 006.6 5151.0 77 92.67 7876.0 946.5 0771.0 79 80.69 3916.0 451.5 0491.0

81 29.71 5649.0 288.7 9621.0 84 06.05 3887.0 365.6 4251.0 87 82.77 4576.0 226.5 9771.0 89 70.79 6616.0 131.5 9491.0

91 09.81 2049.0 039.7 7721.0 94 95.05 9387.0 625.6 2351.0 97 72.87 2276.0 595.5 7871.0 99 60.89 9316.0 901.5 7591.0

02 98.91 0439.0 877.7 6821.0 05 85.05 6977.0 094.6 1451.0 08 62.97 0966.0 865.5 6971.0 001 50.99 2116.0 680.5 6691.0

12 88.02 9729.0 727.7 4921.0 15 75.05 3577.0 554.6 9451.0

22 78.12 8129.0 676.7 3031.0 25 55.15 1177.0 024.6 8551.0

32 68.22 9519.0 726.7 1131.0 35 45.25 9667.0 583.6 6651.0

42 58.32 0019.0 875.7 0231.0 45 35.35 8267.0 053.6 5751.0

52 48.42 2409.0 925.7 8231.0 55 25.45 7857.0 631.6 3851.0

62 38.52 4898.0 184.7 7331.0 65 15.55 7457.0 382.6 2951.0

72 28.62 7298.0 434.7 5431.0 75 05.65 7057.0 942.6 0061.0

82 18.72 1788.0 783.7 4531.0 85 94.75 7647.0 612.6 9061.0

92 08.82 6188.0 143.7 2631.0 95 84.85 8247.0 481.6 7161.0

03 97.92 2678.0 692.7 1731.0 06 74.95 9837.0 151.6 6261.0

The relation of Degrees Baume or A.P.I. to Specific Gravity is expressed by these formulas:

For liquids lighter than water: For liquids heavier than water:

Degrees Baume = 
140

130
140

130G
G=

+Degrees Baume
−    Degrees Baume = 145

145 145
145

−
−G

G=
Degrees Baume

   

Degrees A.P.I. =
141
5

1315
1415

1315
− .

.
. . . .

   G=
+Degrees A P I

G = Specific Gravity = ratio of weight of a given volume of oil at 60°F to the weight of the same
volume of water at 60°F.

The above tables are based on the weight of 1 gallon (U.S.) of oil with a volume of 231 cubic
inches at 60°F in air at 760 mm pressure and 50% relative humidity.  Assumed weight of 1 gallon
of water at 60°F in air is 8.32828 pounds.

To determine the resulting gravity by mixing oils of different gravities:
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D = Density or Specific Gravity of mixture
m = Proportion of oil of d1 density
n = Proportion of oil of d2 density
d1 = Specific gravity of m oil
d2 = Specific Gravity of n oil


